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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.

O @sy

O @ | B GETITON

0w ® Google Play
O @ny A

Click Here

u YouTube- Click Here

o Telegram- Click Here

0 Facebook- Click Here

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://youtube.com/techofworld
https://telegram.me/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

"I am not in the least anxious about her education," Captain Crewe said, with his gay laugh, as he
held Sara's hand and patted it. "The difficulty will be to keep her from learning too fast and too
much. She is always sitting with her little nose burrowing into books. She doesn't read them, Miss
Minchin; she gobbles them up as if she were a little wolf instead of a little girl. She is always
starving for new books to gobble, and she wants grown-up books—great, big, fat ones—French
and German as well as English—history and biography and poets, and all sorts of things. Drag her
away from her books when she reads too much. Make her ride her pony in the Row or go out and
buy a new doll. She ought to play more with dolls."

1) What is most likely Miss Minchin's relation to Sara?

) Aunt.
) Teacher.
C) Mother.
) Grandmother.

2) How did Sara read books? Tech OfWO rI d , I n

A) She read slowly and carefully.
B) She read quickly.

C) She gobblesd them up.

D) She read attentively.

3) Why was Captain Crewe carefree about Sara's education?

A) She loved to read.

B) She was well qualified.

C) He didn't want her to study.

D) Miss Minchin would teach her.
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4) What did Captain Crewe ask Miss Minchin to do?

A) To give Sara more books.

B) To teach Sara to work.

C) To drag Sara away from books.
D) To give Sara kitchen work.

5) What sort of books Sara wanted to read?

A) Grown up books.
B) Children books.
C) Primers.

D) Policy books.

6) Fill in the blank with the correct option:

One is not to talk

in a meeting.

A) aloud, aloud

5 aewes aloved Tachofworld. In

D) allowed, aloud

7) The idiom " Make or break" means

A) be the factor which decides whether something will succeed or fail

B) be the impossible factor which decides whether something wins a revolution
C) make something on your own and then break it yourself

D) the maker is also a breaker of things

8) Fill in the blank with correct prefix or suffix:

Most students were happy when they heard that the exam was poned by a week.

A) post
B) pre
C) fore
D) pro
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9) Which of the following words is correctly spelt?

A) acommodate
B) accommodate
C) accomodate
D) accommodete

10) The idiom "An itching palm" means

A) signal before a storm TeCh OfWO rI d " I n

B) an avaricious or greedy nature
C) a very bad situation
D) the feeling of being forshaken
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Select the INCORRECT pair of activity and work done from the given statements.

A) A pigeon scratching the dirt on the ground ; positive work is done by the pigeon on the dirt
B) A crane lifting a pillar ; positive work is done on the pillar

C) A monkey climbing up a tree ; negative work is done in climbing up

D) A bullet fired upwards; negative work is done by gravity

11) 9@ §9a¢1Q @0l AR AINARIA Y& AR YR Gﬂl@@ 09R gl

A) e esaie gfiea ARIQ QIGS; F6aIE QYOI NRR QU6 AP A FAIAIRT
B) 1@ 689 §19Q Q0I0F; ¥F AU6R avage ALY FAUAIRE

C) AIGeS ae ageq 9¢8; aaag c4eiea Feaige QINY QAILIRS

D) aaag e ¢F SRIGN; Aieds Qo feaIe QI RAUAIRG

12) Which of the following amendment/s is/are landmarks with respect to decentralising the
administration of Panchayats and Municipalities?

A) 42nd and 44th amendments TeC h OfWO rI d . I n

B) 44th amendment only
C) 73rd and 74th amendments
D) 73rd amendment only

12) GRG0 AIQ 629 PEARIR TFRIAE IS RFQAIRR! gERa 4IARg F6RQIN0d @AQI ANER Q] ?

¥9 QF NG WY 0F el
6@ ¥¥ Q1 Tealue

O QF1 G 9% OF PEalRIF
9 Q1 TeUR

A
B
C
D

— SN S S

13) The National Board of Accreditation came into existence as an independent autonomous body
to assure quality and relevance to -
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A) Technical Education

B) Senior Secondary Education
C) Teacher Education

D) Fine Arts Education

13) w2l Q26 @&6 9E90l 8 gIadaclq IRRe @8l AR’ RIP1A ARE 6IE 9@ IS TY| NG 2R 6ARTR -

A) Qi1 dsl
B) @94 akde dal
C) zuiae &l

) Geae! dal

)

14) The body that looked into problems faced in the implementation of the 3-language formula was

A) The Kothari Commission

B) The National Knowledge Commission
C) The National Policy of Education 1986
D) The Education Commission 1966

14) m-qisl gee QIdiQIeIen 2gRael anala afllie aidl 1@ QTS eial eqael

A) e@I0IN Aleaicl TeCh OfWO rl d . I n

B) Qg1 &ie zisais

C) Q1919 881 916, ecrs
D) d1 26aIgl, 0 ¢ 99

15) The program of operation (NPE 1986) proposed Operation Blackboard to improve

A) human and physical resources in schools

B) operational and administrative functioning in schools
C) admissions and enrolment functioning in schools

D) attendance and tracking process in schools

15) @ 691917 2 296Q8R (NPE ecro) voiq agdals AU6QIR qieseida gaie caagsl

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

A) SUIRAYFRER AIRQ Ie° 6RIGR An T e C h OfW O |
B) S@uipageasa AIIBAGI e gaIARe RITIRIGO!

C) FIRAgPRER URAAR I FIACAIR ARG

D) SQiieagdaca @agie 9e° gl gaal
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Which letter will be midway between 10th letter from the left and 12th letter from the left, when
alphabets are arranged in the alphabetical order?

A) K
B) L
C)M
D)N

16) 6a606a6R RGP QdaIRl @rca AR, 6o 28ET AINQ QA LV I QIAQ YRE UVAR AURIFER 62Q ?

A) K
B) L
C)M
D)N

17) In a certain code language T is coded as 1000 and Z is coded as 2197. How would N be coded
in that language?

22 Techofworld.In

C)225
D) 525

17) ve da eqiq uaica T @ tooo ¥e* Z @ 90 ¢'9 QIN6R 6016, @aIRiad | 622 aiaisa N @ §ad 691 @Qll Q92

A) 998
B) qy:
C)9gs
D) 898

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sulfficient to answer the problem.

A juice shop sold 600 glasses of juice.Some of the glasses were large glasses and the remainder of
which were small glasses. If all the large glasses of juice were priced at a fixed rate and all small
glasses of juice were priced at some other fixed rate, then what was the revenue that the juice shop
earned from the sale of juice?

I. The number of large glasses sold was 3/5th of the total number of small glasses sold.

Il. The price of a small cup of juice was $2.

i Techofworld.In

D) 4

18) QONYL ggqeesa 636 @aq :
¢. 9@ YA€ | analia QR seeiq A6 26T |

4@ Q4 Il vgbal anaiie AR caelg Asae 26 |
0. 96 QA4 | ve* Il anag 9eI0 F2IA 6666 ANAWIQ AR 60e! Al AYIg 26E |

a@ QR4 | ve* |l anag 1eI0 FaIde 6o6e @ ANAIQ VAR 626! Al aduIg Q6< |

98 99 6QIRIR6Q Yoo gIq 94 FF 62T | AT 9¢ I I 2R 6816 QI 8l | AT AL 9 §Iq €9 ¥Q AT QQ 9 AN 6816
Q19 29 2/ @8 UIdY gAY el ARTR, 6669 FFG @R, 6069 4 6RIRINR §Q FRQ ERET 2IA 6RARIR ?

l. 3 62108QI @@ QA T R 62IRdQI A 6816 QAR 07 Treara Al |

Il. v& 6216 @9 820 94 $9 a1

A) °
B) ¢
C)m
D) ¥
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19) Saraswati started walking east. After walking for a while, she turned left and continued walking.
She again turned left and continued walking. Finally, she turned right and continued walking. In which
direction was she walking finally?

A) East

B) West
C) North
D) South

19) 20061 9 Gaq SINQI 2I0A Q6R | A AN CIRGI A6Q 6Q Q1N 2IRQ A 2ITY SRR MITeR | 6a Q8 QINg 9F Y Qe
| 6996Q, 6Q Q6P R q@ 2P SRR ATER | 69964 6Q 60 Fa6Q QIRAER ?

e« Techofworld.In

C) eaa
D) @8«

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

What is the capacity of tank A?
I. The inlet pipe X takes 6 hours to fill the empty tank A.

Il. The inlet pipe X can fill 100 litres of water in 1 hour.

A) 1
B) 2
o e
D) 4

20) FIRYS 999eeea 636 @0q :
0. 0@ YA€ | analia AR c29Iq 962 AT |
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9. 9@ YRQ4 Il vgdal anava AV ceeIg acae 26T |
a. 96 Y4 | ver || aeag 9eI0 F2I8e 606 NN AAA 62! Ale AHF 266 |

¥. 96 QR4 | e |l a0ag 910 FaIde 606 @ anAa QAR 629! AIF adyg g6 |

o1& A Q S061 6960 ?

l. 4R a1f A @ 90al gl aesac aeg X 9 W&l 6aqald |

Il. arenc arg X ¢ dalsa eoo Aea Ad KGal6a |

>

@)
N — — —
X 8 v ~
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Sarva Shiksha Abhiyan (SSA) was launched as India’s flagship program to address which of the
following?

A) Privatization of higher education

B) Adult education

C) Universalizing elementary education
D) Upgrading secondary education

21) GQRge AUQ 6265 AARIL AR AS dal 2RAIR (MAIAY) VR JYH AITIRN LR AIRA FAIAIRYAI ?

yessmssss | @CHOTWOTIIA. IN

B) @94 dal
C) glafie da1g 99108 289!
D) Akife daIg 226 |aQ

22) Which of the following may be the most important reason to say that Teaching is an Art?
A) It incorporates skills and procedures
B) Itinvolves systematic methods

C) Itinvolves skill to dissimilate language, maintain interest of learner
D) Itincorporates probing and experiments

22) 30109 99 Rl 6Q1R 929IQ FQAYE MUIQ 69US AQ0IQ 9RQY4 RINE 6QIRAIER ?

A) 92! 6180 9% GEaIRIgR] U9ES @6a
B) wa6a @iage aad uags

C) I8l 3R] @84l, RIITa 2GR NG QYR I ISR AB6! USYS
D) 92l 2aMQ I& aQINEq UFES F6Q

23) Which of the following does NOT come under local bodies, which are responsible for offering
educational services to the local community?

A) Municipal Corporations
B) Army schools
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C) Zilla Parishads
D) Panchayat Samithis

23) 369 AIQ 6946 YN1A PP AUINEA 26 QIT, IRl YIN1A 6AIFIQ ANITE 6391 GAIR TS QS 6RQAIN ?

A) RAARE @ecieaar
B) 627 SQuRagee

C) @1l adaQ

D) ereiae ade

24) What is the mission of the program National Adult Education Programme (NAEP)?

A) Educational assessment and evaluation

B) Educational facilities for adult learners

C) Educational assessment at national level

D) Education facilities for elementary education

24) @010 @02 J8 AIdian (veed) QIdIRNe AR @€ ?

A) SQIGE AAGI 9 ISR

B) @92 dadiciee ale dalee gal Te C h OfWO rI d » I n

C) KG9 Q6 FVIGE AN

D) 9108 da aisf daige gau

25) Which of the following is a quality of a good communicator?

A) One who gives a lengthy speech.

B) One who reacts to the audience very frequently
C) One who has histrionic talents

D) One who is a good listener

25) 3Rge UQ 6948 K66 O CAIGICATANS Q& ?

A) 94 4@ Al aIee fud

B) @ QAT AU6Q QIONIQ GORA gRle @03
C) 9I21a eaIgee goal 2@

D) @4 9661 OR 6816
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26) Which of the following is a wrong example of metamemory?

A)
B)
C)
D)

Shamshad knows the twenty three times table by heart, he can recite it without stopping.
Little Lara knows that if she has to learn many words quickly, she must group them in themes.
Sudha knows that counting similar numbers first helps her do mental addition faster.

Robert knows that if you give the change along with the note then it is easier to calculate the
money to be returned.

26) 76919 AUQ 694UE 6208 67GI6AAINA IR QRN AIAE ?

A)
B)

C)
D)

AINEIQ cond adie adal Aeradad, 6a ¥RIg @ 6@ QRaIfee

28 QG V1613 6Q AF I 619 YRR A9 AYRIQ 4, 6669 VIY° YA AYAER NG AR FQE!
QI RIEB 64 AAIR Y AR CIF FaUEA AR IR 6KINQ §1g FAUER ALY FEQ
69196 RIO3 69 AF 2AG OF ARG YRR FUS 6069 6TNY 6219 YR FF VIR RER AL 62

27)

A)
B)
C)

D)

Which of the following statement is true for learning and memory?

Learning modifies behaviour and memory overrites behavior
Learning acquires skills and memory acquires learning

Learning is the acquisition of skills or knowledge while memory is the expression of what is
acquired as a result of learning

Learning remembers past experience and memory modifies behaviour

27) 8¢Q1 96 A6RAYRI Alal FIRYE RIQ 6QET A6y ? Te C h OfWO rl d I n

A)
B)
C)
D)

ARG CREQ AT REQ Ie° GO GREQ AN RER
¢RI 6QlOR AN REQ I GG FYQI AN VER

G961 6208 6T9R QI RIF UG 6J606Q6R O 6208 dNIQ TIRITR NN QIR GIg 29 IR KNS
4RI 2G10Q URROIQ FI6R AN Ie° T AICQEQ AR R @2

28) Which of the following learning disabilities explains a common developmental arithmetic disorder
amongst children?

A) Dyslexia
B) Disgraphia
C) Dyptheria
D) Discalculia
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28) SqRge AuQ AdRIea 6aUgRINa 2RACI TAIAIRE AIEA Y@ ARIRE FRENNR CISER QIR SYIHY Q6 ?

A) Claeaqal
B) @agida
C) Gasze
D) @aringaal

29) Which among the following options CANNOT be covered under the non-formal mode of
education?

A) Hobby courses

B) e-learning courses for academics

C) Small duration vocational courses

D) Special training for entrepreneurs

29) 3QIQ ACHIASIAR ARG 2U1R6Q F6AIB FRIP 62Q 32T TAANYS 62IRAR FIF?

A) 6dgR aioiga Techofworld.In

B) 3315QIee IR @-a@° QI04ga
C) g9 a9y 9AGe Q1049
D) @suieaies QI G689 SIRe

30) A teacher looks eye to eye and makes a stern gesture to a student who misbehaved during
classroom teaching. Which of the following classroom management techniques she has used?

A) Scolding

B) Verbal intervention

C) Non verbal intervention

D) Reinforcement

30) @66 20 AF A2 2g AR QWS I 6g46196R AR ANAER AAACRE @HQ BIGT FE0IQ PERE 2G| 6Q F6QIS AUIQ
69 6g4192 GRR! 988 AR @583 ?

A) QP @G

B) 67iye 2a6m@

C) ue &dlige 2g6aa
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 900 624 93 9IA 21V 28 IR F6Q?

A) 22 69
B) a4l 43
C) qyaql 63
D) 2@ 63

32) @aqd ARIQEes 6R€0I6Q M9LE 292

vueess Techofworld.In

C) 9Io4 6886
D) Qe 20A6Q

33) Q6894 AQ QLM QIVNG §EII?

A) Qi
B) qig
C) a@
D) fer

34) ‘aed’aea YAQIGIdeINR 69 QI8 |

A) 2eg
B) fasi
C) gaeq
D) @40

35) 6 60R gTaI6a 'ad’ QAQAGT 69 &g IAYRIS 96Q?
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C) Geaa
D) z6u19@
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36) 56919 AUQ 6RRE IR GFAA §R7?

A) Qe
B) a&
C) ede
D) eie1@

37) ‘goaIe’ QuQd g8 AR6a 694 dIQ 4RO ?

»s Techofworld.In

)@
D) a9

38) ‘afaig Qeae GG aFe 2d F9ad @a |

A) 2ae0ie82I QI7
B) faesa agel
C) 0= 04l @ &<
D) aR&agl

39) ‘ena udar’ 9@ 28 5908 @ |

A) 67 6aiGal
B) €4 &4 edi 62ql
C) q8euiaisa a8ql
D) 94l @ 624!
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40) 36918 FRIQ 62AE §-2FQ FAIR IR AL ?

A) 62 Og 9Q C9IRTR
B) 2@ 49 aal

C) daa g19q 94 aoem
D) Qi@ qaIq 2@

41) ‘afge’ 90 SAQIGIdsae 90 QI |

A) @addge
B) f9age
C) eaxrae
D) @salQaie

42) '‘QUQQY- @ gRIQ IR?

o Techofworld.In

B) salde &9
C) 6cide aa
D) 6a1919@ &9

43) ‘910’ 2d6a ‘00’ goYa FNIAINYRI 95N QI |

A) 8916
B) Q1918
C) ama

D) quaeia

44) 69ICIR 918 AEQ Ya TR - AT 09T @ aQ?

A) Jeasy
B) Qcaa6
C) aeqie
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D) g*gyiQion G688y

45) ‘@1a’ aea anidealra 49 QIR |

ne Tachofworld.In

B) @la
C) aI8
D) 288!
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What is the root of the equation x + b = 0?

A) b
B) -b
C)0
D) 1

46) x + b = 0 21e0€Q 9P 6260 ?

»» Techofworld.In

C)0
D) 1

47) What is the area of the triangle whose vertices are (6,0) (0,8) and (0,0) ?

A) 12 sq. units
B) 24 sq. units
C) 16 sq. units
D) 28 sq. units

47) 9@ GQea 69909 660 62 QiRiq a1d 62ad (6,0) (0,8) we (0,0) 2

A) 12 ad gie
B) 24 «d gde
C) 16 «d g@e
D) 28 a4 g&e

48) The LCM of 2 numbers is 1848 and the square root of their HCF is 2. What is the product of the
two numbers?

A) 5032
B) 7548
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C) 7392
D) 12580

48) 26 cryia aig 6298 1848 e 6aAI9SR 9AIg @ 94 @ 6208 2| Q% P QYR 66O 629 ?

A) 5032
B) 7548
C) 7392
D) 12580

49) An article whose cost price is ¥ 120 is sold at ¥ 180. What is the percentage of profit earned?

A) 30
B) 40
C) 50
D) 60

49) v a6aq, e 2a9ad T 120 o121 T 180 6a 38 241 6069 1F6Q 660 900G AN 62 ?

ve Techofworld.In

C) 50
D) 60

50) If 5 is subtracted from 5 times a number, the result is 2 more than 4 times the number. What is
the number?

A) 5
B) 6
C)7
D)8

50) 9% 9@ TS 8 QEQ 8 F6IG FAUAI, 606Q TVTR TMIQ ¥ FOQ 9 2TR 24| 606@ PHIT 6960 ?

A) 5
B) 6
&)
D)8
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51) How many equilateral triangles can be drawn by using the vertices of a regular hexagon?

>

)0
)2
)6
)1

O O0Ow

0

51) 9@ 7o 809ea a1d QIR QA 6R60IT AN E9F AFIARAIGS ?

)0
) 2
)6
)1

O0m>

0

52) Alex and Stephen are running around a circular track. They run at speed of 10 km/hr and 20
km/hr respectively.Both of them start from the same point and run in the same direction. If the length
of the track is 5 kms, how long will they take to meet for the first time?

sames Tachofworld.In
C) 50 minutes
D) 60 minutes

52) zicnq 96 §6ae 9@ QOI0IQ 196 631gad | canice aaIgen 10 deaifica | 90 el ver 20 deaifica | G el ceasa

69198 | 6QCER aaa AAIR FeQ AfIe dasa 6Q1ER 2in QS | 98 gIea 63dY 5 88 24, 6069 6QNER FaN 2 6o AL 6960
AN 6969 ?

A) 30 dide
B) 40 dide
C) 50 e
D) 60 ade

53) ¥ 2,000 is invested under simple interest and compound interest for 2 years seperately. If the
rate of interest is 10% in both, then the difference in the compound interest and simple interest
earned is [Note: Compounding is done annually]

A) 10
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B) 20
C) 30
D) 40

53) ¥ 2,000 aoe Qa1 e 0298 QM 2196 2 od AR gae NI96a 376a1a eaIaied | 9@ aeasa Q 21a 10% seirald, 6069
P < - =< -
OR98 QU e A0 Qu6R AldeY 6208 [ 9ol : QTR NEe SR8 AIAIRAN

A) 10
B) 20
C) 30
D) 40

54) A bag contains 50 paise, 25 paise and 10 paise coins in the ratio 5:9:4 amounting to ¥ 412. What
is the number of 50 paise, 25 paise and 10 paise coins respectively?

A) 400, 720, 320T h fW I d I
B) 320, 600, 440 ecno orida.in
C) 240, 480, 300

D) 120, 600, 480

54) sai54 Quisea 50 aeal, 25 aeal ve* 10 aeal gal 5: 9: 4 agaiesa ageia T 412 o281 6062 50 aeal, 25 aeal e
10 0QQl QI Ty AAREN 6Q6S 629 ?

A) 400, 720, 320
B) 320, 600, 440
C) 240, 480, 300
D) 120, 600, 480

55) If P = The set of whole numbers less than 5, Q = The set of even numbers greater than 3 but
less than 9, R = The set of factors of 6. Then whatis (P N Q) u (Q N R)?

A) {4)

B) {4, 6}

C) {4, 6, 8)
D){1,2,3,4,6,8)
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55) a& P = 5 @ @0 94 Taugdes 6a¢, Q = g9 PeIgFea 6ac a2l 3 @ 23R @9 9 @ @A, R =9 Q 2qe@geea 636 | 6069
(PNQ)U (QNR)sase 62a?

A) {4}

B) {4, 6)

C) {4, 6, 8)
D){1,2,3,4,6,8)

56) What is the last digit of the expression of 25/2 + 24/2 + 23/2 + 22/2 + 21/2 ?

A) 0
B) 1
C)3
D)5

56) 2672 + 2412 + 23/2 + 2212 + 2172 @ 2QMIQ 699 AS 6260 629 ?

»e Techofworld.In

C)3
D)5

57) What is the sum of all the external angles of a regular octagon whose sides are 6 cm each?

A) 360°
B) 270°
C) 180°
D) 120°

57) dafic 2aIQ@a aAg QI2Y 6140 ANT 6066 629 QIRIR GO alg 6208 9 6af ?

A) 360°
B) 270°
C) 180°
D) 120°

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

58) The ratio of the past weight to the present weight of a lady is 9:7. If she was weighing 81 kgs
before, what is her present weight?

A) 63 kgs
B) 64 kgs
C) 65 kgs
D) 79 kgs

58) R66 N2QIGQ 20100 BRR AL FOAIRA 6eRa 29AIe 9:7 | 22 oIa 6eR 99Q 81 AN 214, 606Q CITA AFAIRR BRR
6Q60 ?

A) 63 g

B) 64 &g

C) 65 &gl

D) 79 &gl

59) If A= {8An — 7n — 1 | neEN} and B= {49n — 49 | neN}, then AUB =

2% Techofworld.In

C)A-B
D) {0}

59) @@ A= {8 — 7n — 1 | neN} v B= {49n — 49 | nEN}, s06e AUB =

A) B
B) A
C)A-B
D) {0}

60) How many numbers below 50 have exactly 3 factors?

A) 1
B) 2
C)3
D) 4
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60) 50 @ 66 6@60I6 aica ARNER 3 § QIR QRS ?

»+ Techofworld.In

C)3
D) 4
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) What causes Tsunami?

A) Avalanche
B) Tornado

C) Earthquake
D) Volcano

61) gaifia Qa8 @'a 621QaI ?

Due 1echofworld.In
C) oo
D) 2i6gada

62) The part of the Earth where human beings live is known as

A) Inner Core
B) Mantle

C) Crust

D) Outer Core

62) gdeia 6Q% 2ra cadoica Ada 9Ia @ad, I€ RINEA @€g 8l

A) Gea 691 28R
B) aigiee

C) ge)

D) QI2y 6959 215@

63) How many schedules are there in the Constitution of India?

A) 10
B) 8

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

C) 12
D) 11

63) f106a AARER 6260IF 2QYST 01 ?

A) ¢o
B)r
C)?9
D) €®

64) In the Vedic age, the classification of society based on occupation is termed as

A) Tanda
B) Varna
C) Barhot
D) Chaurasi

64) 6379 969, 9@ QUEA 2RIIAG AAIFA 65419081 RIAN
ve Techofworld.In
B) o4

C) qiaselc

D) sclaat

65) The First International Earth Summit was held in June 1992 at

A) Kyoto

B) Washington DC
C) Paris

D) Rio de Janeiro

65) g 1992 sa gan 2eeIe1a 21¢ AFE 06 QTS 6QAQR

A) @66a!
B) @iéree 6@
C) auda
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D) Q3@ 60623

66) Which among the following options is the thinnest layer in the structure of the Earth?

A) Inner Core
B) Mantle

C) Crust

D) Outer Core

66) FqRdic Fargle NUIQ 69T QIR F0RA AERI 89 ?

A) 869 6999 28R
B) aigieg

C) gaq

D) Qiay 6999 28R

67) Which of the following is correctly matched as far as their demands for Federal Autonomy is
concerned?

A) Nagaland/Mizoram-Socio-religious identity TeCh OfWO rld B I n

B) Telangana-Linguistic identity
C) Punjab-Regional Imbalance
D) Jharkhand-Regional imbalance

67) sadadis eaia Qoraideol aiRl 6QAINER ATQ ANS 027, A6V MRIQ 6095 A0R NNER 60 HIRT ?

A) fISIRIg / FAeRIUN-AARR-UAR aden
B) 696RENRI-QININE 900
C) Q8ie-2rede 2agee

D) €IedE-AroRa 2AA8RR

68) Originally the 8th Schedule of India had how many languages?
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68) 99Q NGGa A AQYS1ER 6@60IE QI 2R ?

A) 9
B) €2
C) e¥
D) 99

69) The imaginary lines of longitude run around the Earth from

A) East to West
B) South to West
C) North to South
D) North to East

69) Qdae @eql 6a¢l YR0IQ JANQ AGIEF AIRAN

o il Techofworld.In

C) a@eq @84
D) a@eq g¢

70) Quit India Movement' is also known as?

A) Swadeshi Movement
B) Home Rule Movement
C) August Movement

D) Khilafat Movement

70) ‘a0 21¢ 2IERIRY’ IR NNER A FEIEl

A) 969411 2l6RQ1RR
B) 92 faq 2ieaiee

C) 260] zicaiea
D) 4196 26199
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71) Which kingdom of ancient India among the following options was famous for 'Pearls'?

A) Chera Kingdom

B) Rashtrakuta Kingdom
C) Pandya Kingdom

D) Chola Kingdom

71) ORYE TRTGER F1U6Q YIP1R VIAGR 69Q AR ‘6T’ AIR gAR gRI?

A) 69@l QIR
B) qiaqe aIey
C) aigyl aIey
D) 601l QIGY

72) The term Conurbation which refers to the merging of towns and cities for developmental purpose
was coined by

A) Jean GottmannTeCh OfWO rI d X I n

B) Robert Park
C) Berges and Davis
D) Patrick Geddes

72) Q26999 49 QIRIF A2Q 9&° R9gERa ARIINNR Q6R8IEa Fgaq IO YaIF Il AIfe AaIAIRaal

A) 919 66I6HIR
B) 6aie¢ ala

C) @4a e 6e8a
D) aiga 6a6@Q

73) Which of the following states have Bicameral Legislature?

A) Bihar, Karnataka, Uttar Pradesh, Tamil Nadu

B) Karnataka, Maharshtra, Uttar Pradesh, Tamil Nadu
C) Bihar, Tamil Nadu, Maharashtra, Assam

D) Bihar, Maharashtra, Uttar Pradesh, Andhra Pradesh
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73) GgRge AINIYER MRIQ 6R966a QUIRe JUAKAR 2T ?

A) G2ia, edice, QAAYEQE, IfiacIg

Qdiee, A2I0Ie, QAAYERE, IFanIg
C) 9219, QIFaRIg, ARG, AN

D

o

daie, A0, ARAYEQ, Rgead

74) If it is 5.30 PM in India, then it is 12 Noon in London. Which of the following options is the
CORRECT reason for this statement?

A) India is located West of Greenwich at 82°30' E
B) India is located East of Greenwich at 82°30' E

C) India is located South of Greenwich at 82°30' E
D) India is located North of Greenwich at 82°30' E

@ A0
QARG 62IQAAS 7

A) 9166 FIRGea afaAca M9QMo’ @ 6a Aege T h fW I d |
B) 2100 g1aGea Qa6 r9gMmo’ @ 6@ ARge e C O O r . n
C) 9166 g1eGea @fiesa M 9aMo’ 6 6a UGS

D) qiee gieGea a@asa r9gmo’  6a 26ge

75) Unhappy India' was written by ?

A) Dadabhai Naraoji

B) Lala Lajpat Rai

C) Bal Gangadhar Tilak

D) Surendra Nath Banerjee

75) ‘aqed eréu’ & Qe Ry |

A
B
C

D

QAANR FIAUR1

QAR ARAS QUL
QM AFRIQ SRR
Q6aR flel QRIS

— N S S
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following reaction produces N20O upon decomposition?

A) NHsNO2
B) (NH4)2CO3
C) NH4CI

D) NH4NO3

76) Gqonge 98801 AUQ 699G B0 6241 U6Q V,¢ R0 F6a ?

A) NHsNO2
B) (NH4)2CO3
C) NH4CI

D) NH4NO3

77) What will be the value of compressibility factor Z for ideal gases?

A) Less than 1

o e €chofworld.In

C) Equal to 1
D) Equal to O

77) 2QGUR QUi CIgl AEFIOR FI0R © @ FIR @'6 62 ?

A) € Q@d
B) ¢ 9@
C) ¢ Q@¢ aqie
D) o a@e aqie

78) Mass of a body into acceleration is

A) power
B) displacement
C) force
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D) momentum

78) 99 @gR J4F QQd AR

A) 63
B) Qaiae
C) a@
D) a*saq

79) He is also known as “Father of Genetics”

A) Morghan
B) Mendel
C) Watson
D) Bateson

79 “eoerdqa dol” aueeq a1l 6 @€Igl |

v Tachofworld.In

B) 6¢16aMm
C) gloQR,
D) eeQq,

80) The epiphyllous type of condition is found in the flowers of

A) citrus

B) china rose
C) brinjal

D) lily

80) 1@ grIea gRea 1aTIeNd geiee &gl Adard

A) Qega
B) ©laRI 6aIRIQ
C) @aae
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D) @&l

81) Which of the following products will be formed when H3POs3 is subjected to heating reaction?

A) Oxidizes to form H3PO4

B) Reduces to form PH3

C) Disproportionates to form both H3PO4 and PH3
D) Dehydrates to form P20s

81) H3PO3 26962qI goaIea 2Rl6a6n AQAe MIQ 694 QQIQ 60R 62Q ?

A) H3PO4 c0¢ aiel 25010 @60 Te Ch OfWO rI d o I n

)
B) PH3 0 @89ig 21a @sa

C) aea H3PO4 we* PH3 c0¢ aigl 29age
D) P20s g% aiel Geiaees 62

82) Which among the following is the actual value of the van der Waal's constant 'b'?

A) Two times the volume of one mole gas molecules

B) Equal to the volume of one mole gas molecules

C) Four times the volume of one mole gas molecules

D) One-forth times the volume of one mole gas molecules

82) GqRge AuQ 6a66 QUIR 669 @R @ Ja ‘b’ @ gqe IR 2es ?

A
B
C
D

661G\ 6AIM QA AGYFRQ ATAER QR
6QIG 671IR GYIQA AGYFRR ARANE ARG AR
605 691IR GYIA 6208 AUYYFFR ARANIQ QA 6

~— N S S

60T 69IM Y1 2GR ARANERQ \']G?-@Q&I‘Pﬂ Qe

83) A cyclist with mass 40 kg exerts a force of 400 N to move his cycle. The acceleration is 6 ms™2,
The force of friction between the road and tyres will be

A) 240 N
B) 640 N
C)320N
D) 160 N
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83) 40 @9l Bee S8] F64 AREAN FIRG GIFA ARCARA FARQ! AR 400 N @ G6QIS 993 | QA 629& 6
ms=2 | QI G FIYQ AR ATEIA R 6R6S 629 ?

A) 240 N
B) 640 N
C)320N
D) 160 N

84) The polysomes are a

multiple units of ribosomes
attachment of many ribosomes to a common mRNA

group of two or more ribosomes translating an mRNA sequence simultaneously
lysoosmal aggrgations

809582

wassngiee | @CHOTWoOrld.In

A) QIRELIEANR IS FRE

B) @ ARUQE BRAR AR UKL QAURCICRINQ LAY
C) QR @A UYR ARECAERIAR 60T IRRIPIR RFAR QAR JFSQ RERQ

D) zieggie dgiceag

85) F1 particles are the small rounded bodies found in the

A) Peroxisome
B) Nucleus

C) Chloroplast
D) Mitochondria

85) ae eé@@@@ 6208 6216 6AINIRIR 2RI

A
B
C
D

600gIR6AIAN
okl
6QIeQIga
Aesciedal

— N S S
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86) The pattern of arrangement of leaves on the stem or branch is referred as

A) venation
B) phyllotaxy
C) phyllode
D) stipules

86) 6aq @7 GIgll Q06 TEQ LY FYAIG N2 RIAN

A) 686028
B) demiciq
C) gsmie
D) 49

87) Calculate the slope of the curve obtained when a graph is drawn for 2 moles of an ideal gas
between P vs 1/V at 27 °C.

naztam | @Chofworld.In

B) 4.92 L-atm
C) 0.492 L-atm
D) 49.2 L-atm

87) 27 °C sa ¢ @aia 1/V aiea 9@ 2Iedeia auide 2 69i alel 9@ gIT UG 626 JIY 6210291 988 6Q/aQ 6691 @ag |

A) 492 L-atm
B) 4.92 L-atm
C) 0.492 L-atm
D) 49.2 L-atm

88) Calculate the work done, if a force of 9 N is acting upon an object and the displacement recorded
is at 8 m towards the direction of the force.

A) 50J

B) 56J

C)72J

D) 85J

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

88) 9@ 9@ 9g QU6 AU Q2RI 2R 9 N 94 99° ARQ G96Q FRIAR 8 M 94, 666@ Q1Y Q ARG AIT @R

89) Which of the following bacterium causes sexually transmitted disease gonorrhea?

A) Neisseria meningitidis

B) Neisseria gonorrhoeae

C) Cytochrome gonorrhoeae
D) Streptococcal gonorrhoeae

89) GgRge 624 QUI6ACCRAA QAR 641R rafie sala calsnIl 6RINEIN ?

A) FRAR2 QG RREA T h f I d I
B) f1eQdal saleaiaal eC O Wor . n
C) AR6SI6RIA 69I6RI1G2

D) 686q6RIIa 65I6RI1G2

90) Which of the following is a type of non-mediated passive transport process across the plasma
membrane?

A) Antiport

B) Symport

C) Diffusion through a channel

D) Facilitated diffusion

90) SqRge AQ 6946 gIenl EQ1 AEA IR gRIa A 62109 A4 adees glaIa I8 geIa ?

PGeQlS

A) 2
Jdqsard

w

)
)
C) 4@ cusan Arinca SR
D) 6rdma69Q @IeR
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1| B 31| D 61 | C

2| € 32| A 62 | C

3|A 33| B 63 | C

4C 34 | D 64 | B

51A 35| A 65| D

6|D 36 | D 66 | C

71 A 3l | € 67 | D

8| A 38| A 68 | C

9(B 39| A 69 | C
10| B 40 | C 10 |
11| € 41 | B 71 | C
12 | D 42 | A 72 | D
13| A 43 | D 73 | D
14 | C 44 | B 74 | B
15| A 45 | A 75 | B
16 | A 46 | B 76 | D
17 | B 47 | B T |
18 | D 48 | C 78 | C
19 | C 49 | C 79 | B
20 50 | C 80 | D
21| € J1 | B 81 | C
22| € 52 | A 82 | C
23 | B 53| B 83| D
24| B 54 | A 84 | C
25| D 55| B 85 | D
26 | A 56 | D 86 | B
20| € 57 | A 87 | D
28 | D 58| A 88 | C
29 | B 39| A 89 | B
30 | C 60 | D 9 | C
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